2

REDEDRAARVERAR (REE)

(BRL: N)

(R4£i] 216E[E | 285EE | 296 E | 30FE | NEE
B O R OA B A 10,803 10,596 10,440 10,230 10,140
1| ® & 5 K [B=CD 13,451 13,141 12,947 12,652 12,517
’mi FeEHE PR B MR C 3,636 4,042 4,326 4,445 4,511
P TERBZZ TR VENHER | D 9,815 9,099 8,621 8,207 8,006
] R s E=B-A 2,648 2,545 2,507 2,422 2,377
= 0 R OJA B |P=GH 40,097 39,176 38,460 37,650 37,183
HE=—X %1 G 3,745 3,643 3,571 3,479 3,422
2 RE="X H 36,352 35,533 34,889 34,171 33,761
’ni etk R [EHHK 37,449 36,631 35,953 35,228 34,806
E FrEHE B ik J 37,340 36,524 35,855 35,133 34,710
RAMEB MR %2 K 109 107 98 95 96
] R s L=I-F | A 2,648] A 2,545 A 2,507| A 2,422 A 2,377
72 0 K A ZH M 2,824 2,820 2,823 2,785 2,783
3| e K F K OE;Q 2,757 2,796 2,823 2,785 2,783
E FrE#HE fi% 0 2,665 2,702 2,727 2,687 2,676
® FrE MU B 6T P 14 14 14 14 23
%9& R AMR B TR Q 78 80 82 84 84
= 1t N & R=N-M A 67 A 24 0 0 0
5 0 R A ZH S 12,389 12,384 12,334 12,240 12,159
3| ® &K F K vajw 12,192 12,252 12,325 12,240 12,159
ZEZ FeEHOE - PR B MR U 11,931 11,992 12,056 11,964 11,825
E T MR R 2T v 27 28 29 29 87
1%2 P RTAMR B Rk W 234 232 240 247 247
7 ) R - X=T-S A 197 A 132 A9 0 0

X1 2BRBEDILYNRPOERLFDOFAARLEDRVNENYHEZFIAT H5E
X2 WABEARRN—EORRELEICEIETEEEXIEEZITOCLSRANMRBEIERF.

[EELDBEFR BE~AFRIDFED)]

KR EDBRRBIFELELY,

HA

= — AKX BB TR

Y=E-G

A 1,097

A 1,098

A 1,064

A 1,057

A 1,045

B

=—RIIHT DA R

7=L+G

1,097

1,098

1,064

1,057

1,045




HHE-REOEORAHKRUVHERG R (EABE)

(B A)
(&£ AEE) 216E[E | 285EE | 296 E | 30FE | NEE
= O W OiA K A 1,194 1,169 1,147 1,131 1,130
1| ® & 5 K [B=CD 1,791 1,740 1,703 1,671 1,668
= B EHE B i C 170 668 837 1,018 1,098
3E WeZRAZ TRV HER | D 1,621 1,072 866 653 570
1t N 2 E=B-A 597 571 556 540 538
® o R A A |F=GHH 4,010 3,915 3,784 3,694 3,649
HE=—X 1| G 649 624 608 593 593
2 FE=—x H 3,361 3,291 3,176 3,101 3,056
S| % & =K 3,413 3,344 3,228 3,154 3,111
E R - (R R J 3,413 3,344 3,228 3,154 3,111
RAMEB MR %2 K 0 0 0 0 0
1t A~ 2 L=I-F A 597 A 571 A 556 A 540 A 538
g o & A & M 354 340 338 335 333
N=
1% O A e 352 340 338 335 333
B FEHE -RE 0 348 336 334 331 329
E \ e
FrE MU B 6T P 2 2 2 2 2
0 - -
= R AMR B TR Q 2 2 2 2 2
R 16 N 2 R=N-M A2 0 0 0 0
g o /A & S 1,109 1,098 1,087 1,079 1,071
T=
3 e TR | Lvew 1,077 1,068 1,087 1,079 1,071
= FrE20F R B MRk U 1,071 1,062 1,081 1,073 1,065
E T MR R 2T v 3 3 3 3 3
1%2 P AIMRE ik W 3 3 3 3 3
T
" 1 ~ 2 BEES A 32 A 30 0 0 0

X1 2BRBEDILYNRPOERLFDOFAARLEDRVNENYHEZFIAT H5E
X2 WABEARRN—EORRELEICEIETEEEXIEEZITOCLSRANMRBEIERF.

[EELDBEFR BE~AFRIDFED)]

KR EDBRRBIFELELY,

HE=— X TLHHA R

Y=E-G

A 52

A 53

A 52

A 53

A 55

B =—XITH T DA 2

7=L+G

52

)3

52

53

55




2

REDEDRAHRUHERT R (L/NELE)

(BRL: N)

[E/MEE) 216E[E | 285EE | 296 E | 30FE | NEE
B O R OA B A 1,305 1,322 1,314 1,306 1,305
1| ® & 5 K [B=CD 1,553 1,563 1,553 1,544 1,543
’mi FeEHE PR B MR C 90 90 90 90 90
P TERBZZ TR VENHER | D 1,463 1,473 1,463 1,454 1,453
] R s E=B-A 248 241 239 238 238
® O HJA FA |F=G+H 3,552 3,584 3,545 3,513 3,501
HE=—X %1 G 335 326 321 318 317
> FEH=—= H 3,217 3,258 3,224 3,195 3,184
’ni etk R [EHHK 3,304 3,343 3,306 3,275 3,263
E FrEHE B ik J 3,304 3,343 3,306 3,275 3,263
RAMEB MR %2 K 0 0 0 0 0
1t A~ 2 L=I-F A 248 A 241 A 239 A 238 A 238
72 0 K A ZH M 431 443 453 464 477
3| w ¥ # | o 431 443 453 464 471
E REBE RE 0 396 407 416 426 439
® FrE MU B 6T P 2 2 2 2 2
%9& R AMR B TR Q 33 34 35 36 36
R 16 N 2 R=N-M 0 0 0 0 0
5 0 R A ZH S 1,038 1,057 1,079 1,100 1,126
3| #® R K vajw 1,038 1,057 1,079 1,100 1,126
ZEZ FeEHOE - PR B MR U 965 982 1,003 1,021 1,047
E T MR R 2T v 4 4 4 4 4
1%2 P AIMRE ik W 69 71 72 75 75
LTE' 1 A~ 2 BEES 0 0 0 0 0

X1 2BRBEDILYNRPOERLFDOFAARLEDRVNENYHEZFIAT H5E
X2 WABEARRN—EORRELEICEIETEEEXIEEZITOCLSRANMRBEIERF.

[EELDBEFR BE~AFRIDFED)]

KR EDBRRBIFELELY,

HE=— X TLHHA R

Y=E-G

A 87

A 85

A 32

A 30

A 79

(3]

=— R T BB R T

72=L+G

87

85

82

80

79




HHE-REOEDRAHRUHERT R GRAEE)

(BRL: N)

(EWEn ] 216E[E | 285EE | 296 E | 30FE | NEE
B O R OA B A 672 666 647 623 604
1| ® & 5 K [B=CD 678 668 659 634 618
’mi FeEHE PR B MR C 203 196 194 186 184
P MeB a2 72V EHERE | D 475 472 465 448 434
] R s E=B-A 6 2 12 11 14
® o R A A |F=GHH 4,231 4,040 3,952 3,871 3,812
HE=—X %1 G 158 152 149 143 142
> FEH=—= H 4,073 3,888 3,803 3,728 3,670
’ni etk R [EHHK 4,225 4,038 3,940 3,860 3,798
E FrEHE B ik J 4,186 4,001 3,912 3,835 3,772
RAMEB MR %2 K 39 37 28 25 26
1t A~ 2 L=I-F A6 A2 A 12 A1l A 14
B2 o R A & M 211 214 217 213 213
3| e K F K O+NP:+Q 211 214 217 213 213
E REBE RE 0 204 206 208 203 203
® FrE MU B 6T P 0 0 0 0 0
%9& R AMR B TR Q 7 8 9 10 10
R 16 N 2 R=N-M 0 0 0 0 0
5 0 R A ZH S 1,020 1,049 1,059 1,078 1,082
3| #® R K vajw 1,015 1,043 1,050 1,078 1,082
ZEZ FeEHOE - PR B MR U 970 1,002 1,002 1,026 1,030
E T MR R 2T v 0 0 0 0 0
1%2 P AIMRE ik W 45 41 48 52 52
LTE' 1 A~ 2 BEES A5 A6 A9 0 0

X1 2BRBEDILYNRPOERLFDOFAARLEDRVNENYHEZFIAT H5E
X2 WABEARRN—EORRELEICEIETEEEXIEEZITOCLSRANMRBEIERF.

[EELDBEFR BE~AFRIDFED)]

KR EDBRRBIFELELY,

HE=— X TLHHA R

Y=E-G

A 152

A 150

A 137

A 132 A 128

B =—XITH T DA 2

7=L+G

152

150

137

132 128




2

REDEDRAAHR VRS EK (LFHREE)

(BRL: N)

(£ FAREE]) 216E[E | 285EE | 296 E | 30FE | NEE
B O R OA B A 426 412 402 390 382
1| ® & 5 K [B=CD 599 557 543 504 484
’mi FeEHE PR B MR C 421 379 369 335 319
P MeB a2 72V EHERE | D 178 178 174 169 165
] R s E=B-A 173 145 141 114 102
= 0 R OJA B |P=GH 4,139 3,986 3,956 3,801 3,703
HE=—X %1 G 258 247 243 231 226
> FEH=—= H 3,881 3,739 3,713 3,570 3,477
’ni etk R [EHHK 3,966 3,841 3,815 3,687 3,601
E e - IR B X J 3,966 3,841 3,815 3,687 3,601
RAMEB MR %2 K 0 0 0 0 0
1t A~ 2 L=I-F A 173 A 145 A 141 A 114 A 102
® o i A #H M 268 265 267 257 255
3| w ¥ # | o 268 265 267 257 255
E REBE RE 0 268 265 267 257 255
® FrE MU B 6T P 0 0 0 0 0
%9& R AMR B TR Q 0 0 0 0 0
R 16 N 2 R=N-M 0 0 0 0 0
5 0 R A ZH S 1,313 1,303 1,299 1,258 1,234
3| M FE || L] 1303 1,299 1,258 1,234
ZEZ FeEHOE - PR B MR U 1,313 1,303 1,299 1,258 1,234
E R MR R B |V 0 0 0 0 0
1%2 R IMR B TR W 0 0 0 0 0
ﬁ% 1 A~ 2 BEES 0 0 0 0 0

X1 25RED>LYHRHOERLUEOHARLEDRVELNYHBEZFI AT H5HE. R LOBREFELEL,

X2 WABEARRN—EORRELEICEIETEEEXIEEZITOCLSRANMRBEIERF.

[EELDBEFR BE~AFRIDFED)]

HE=— X TLHHA R

Y=E-G

A 85

A 102

A 102

A 117 A 124

B =—XITH T DA 2

7=L+G

85

102

102

117 124




2

REDEDRAHRUVHERS K (BRFELE)

(BRL: N)

[ 8k A 1) 216E[E | 285EE | 296 E | 30FE | NEE
B O R OA B A 302 297 290 286 283
1| ® & 5 K [B=CD 333 331 320 316 310
’mi FrE 205 - IR B Miax C 333 331 320 316 310
P TERBZZ TR VENHER | D 0 0 0 0 0
1t N 2 E=B-A 31 34 30 30 27
& 0 R A FH |F=GH 3,669 3,637 3,522 3,457 3,405
HE=—X %1 G 227 227 220 217 212
> FEH=—= H 3,442 3,410 3,302 3,240 3,193
’ni et KR |EAHK 3,638 3,603 3,492 3,427 3,378
E e - IR B X J 3,638 3,603 3,492 3,427 3,378
RAMEB MR %2 K 0 0 0 0 0
1t A~ 2 L=I-F A 31 A 34 A 30 A 30 A 27
® o i A #H M 200 201 199 198 193
3| e K F K OE;Q 200 201 199 198 193
E REBE RE 0 200 201 199 198 193
- FrE MU B 6T P 0 0 0 0 0
%9& R AMR B TR Q 0 0 0 0 0
R 16 N 2 R=N-M 0 0 0 0 0
5 0 R A ZH S 1,257 1,228 1,220 1,211 1,209
3| ® &K R U+Tv:+W 1,257 1,228 1,220 1,211 1,209
ZEZ FeEHOE - PR B MR U 1,257 1,228 1,220 1,211 1,209
E R MR R B |V 0 0 0 0 0
1%2 R IMR B TR W 0 0 0 0 0
ﬁ% 1 A~ 2 BEES 0 0 0 0 0

X1 25RED>LYHRHOERLUEOHARLEDRVELNYHBEZFI AT H5HE. R LOBREFELEL,

X2 WABEARRN—EORRELEICEIETEEEXIEEZITOCLSRANMRBEIERF.

[EELDBEFR BE~AFRIDFED)]

HA

= — AKX BB TR

Y=E-G

A 196

A 193

A 190

A 187 A 185

B

=—RIIHT DA R

7=L+G

196

193

190

187 185




HE-REODEDRAHRUVHERAE (KEEE)
(BRL: N)
(K& El]) 216E[E | 285EE | 296 E | 30FE | NEE
B O R OA B A 38 38 37 35 33
1| ® & 5 K [B=CD 35 35 34 32 30
’mi FeEHE PR B MR C 35 35 34 32 30
P MeB a2 72V EHERE | D 0 0 0 0 0
16 N 2 E=B-A A3 A3 A3 A3 A3
® O HJA FA |F=G+H 527 521 494 477 468
HE=—X %1 G 46 46 45 42 40
2 RE=—X H 481 475 449 435 428
’ni etk R [EHHK 530 524 497 480 471
B | s ma i J 530 524 497 480 471
WA SMRE IR %2| K 0 0 0 0 0
1t N B L=I-F 3 3 3 3 3
B2 o R A & M 36 35 34 34 33
3| m_# ¥ 0 36 35 34 34 33
B FEHE -RE O 36 35 34 34 33
€ FrE MU B 6T P 0 0 0 0 0
%9& R AMR B TR Q 0 0 0 0 0
R 16 N 2 R=N-M 0 0 0 0 0
B2 o R A & S 84 81 84 83 82
g| Mt U 84 81 84 83 82
ZZ B HE s U 84 81 84 83 82
E T MR R 2T v 0 0 0 0 0
1%2 P RTAMR B Rk W 0 0 0 0 0
" 1 A~ 2 BEES 0 0 0 0 0

X1 2EREDS>64R

[EELDBEFR BE~AFRIDFED)]

LHDERYBOFAFLENDRNELNHHBEEF AT HEE
X2 A BBRLS —EDRBRBEEICEIZTEEEXELTOTCVWARANRERERE.

EEEDBFREIFELELY,

BH=— Rk T BT R

Y=E-G

A 19

A 19

A 48

A 45 A 13

B =—XITH T DA 2

7=L+G

49

49

48

45 43




HHE-REOEDRAHKRUHERTT R RAEE)

(BRL: N)

€ NEED| 216E[E | 285EE | 296 E | 30FE | NEE
B O R OA B A 2,720 2,642 2,639 2,606 2,618
1| ® & 5 K [B=CD 3,062 2,971 2,971 2,933 2,945
’mi FeEHE PR B MR C 1,079 1,053 1,092 1,078 1,082
P MeRBEZ 72 VEHEE | D 1,983 1,918 1,879 1,855 1,863
] R & E=B-A 342 329 332 327 327
& 0 R A FH |F=GH 7,974 7,812 7,784 7,696 7,703
HE=—X %1 G 381 369 373 369 370
> FEH=—= H 7,593 7,443 7,411 7,327 7,333
’ni etk R [EHHK 7,632 7,483 7,452 7,369 7,376
E FrEHE B ik J 7,562 7,413 7,382 7,299 7,306
RAMEB MR %2 K 70 70 70 70 70
1t A~ 2 L=I-F A 342 A 329 A 332 A 327 A 327
72 0 K A ZH M 440 441 418 415 414
1% w5 R O+NP:+Q 427 439 418 415 414
B FEHE -RE O 386 398 377 374 364
® FrE MU B 6T P 10 10 10 10 19
%9& R AMR B TR Q 31 31 31 31 31
= 1t N & R=N-M A 13 A2 0 0 0
5 0 R A ZH S 2,314 2,345 2,340 2,342 2,332
3| #® R K vajw 2,302 2,310 2,340 2,342 2,332
ZEZ FeEHOE - PR B MR U 2,182 2,189 2,218 2,220 2,152
E T MR R 2T v 20 21 22 22 80
1%2 P AIMRE ik W 100 100 100 100 100
LTE' 1 A~ e X=T-S A 12 A 35 0 0 0

X1 2BRBEDILYNRPOERLFDOFAARLEDRVNENYHEZFIAT H5E
X2 WABEARRN—EORRELEICEIETEEEXIEEZITOCLSRANMRBEIERF.

[EELDBEFR BE~AFRIDFED)]

KR EDBRRBIFELELY,

HE=— X TLHHA R

Y=E-G

A 39

A 10

A 11

A 42

A 43

B =—XITH T DA 2

7=L+G

39

40

41

42

43




2

REDEDRAHRUVHERA R (KILEE)

(BRL: N)

(KAL) 216E[E | 285EE | 296 E | 30FE | NEE
B O R OA B A 286 278 276 274 287
1| ® & 5 K [B=CD 321 313 311 309 322
’mi FeEHE PR B MR C 231 223 221 219 232
P MeB a2 72V EHERE | D 90 90 90 90 90
1t N 2 E=B-A 35 35 35 35 35
= 0 R OJA B |P=GH 874 836 823 825 850
HE=—X %1 G 94 89 86 86 87
> FEH=—= H 780 747 737 739 763
’ni etk R [EHHK 839 801 788 790 815
E e - IR B X J 839 801 788 790 815
RAMEB MR %2 K 0 0 0 0 0
] R s L=I-F A 35 A 35 A 35 A 35 A 35
g2 o H A A M 41 48 68 46 49
3| w ¥ # | o 41 48 68 46 49
73 FEHE -RE O 41 48 68 46 49
€ FrE MU B 6T P 0 0 0 0 0
%9& R AMR B TR Q 0 0 0 0 0
R 16 N 2 R=N-M 0 0 0 0 0
5 0 R A ZH S 288 299 294 289 287
3| #® R K vajw 288 299 294 289 287
ZEZ FeEHOE - PR B MR U 286 297 292 287 285
E R MR R B |V 0 0 0 0 0
1%2 R IMR B TR W 2 2 2 2 2
ﬁ% 1 A~ 2 BEES 0 0 0 0 0

X1 25RED>LYHRHOERLUEOHARLEDRVELNYHBEZFI AT H5HE. R LOBREFELEL,

X2 WABEARRN—EORRELEICEIETEEEXIEEZITOCLSRANMRBEIERF.

[EELDBEFR BE~AFRIDFED)]

HA

= — AKX BB TR

Y=E-G

A 59

A 51

A5l

A5l A 52

B

=—RIIHT DA R

7=L+G

59

54

51

51 52




HHE-RBEOEORAHRUVHERG R (REFEE)

(BRL: N)

(RErEE]) 216E[E | 285EE | 296 E | 30FE | NEE
B O R OA B A 3,755 3,670 3,589 3,487 3,408
1| ® & 5 K [B=CD 4,974 4,861 4,754 4,617 4,507
’mi FeEHE PR B MR C 1,033 1,027 1,129 1,131 1,126
P TERBZZ TR VENHER | D 3,941 3,834 3,625 3,486 3,381
] R s E=B-A 1,219 1,191 1,165 1,130 1,099
= 0 R OJA B |P=GH 9,379 9,142 8,930 8,701 8,506
HE=—X %1 G 1,382 1,353 1,319 1,284 1,246
> FEH=—= H 7,997 7,789 7,611 7,417 7,260
’ni etk R [EHHK 8,160 7,951 7,765 7,571 7,407
E FrEHE B ik J 8,160 7,951 7,765 7,571 7,407
RAMEB MR %2 K 0 0 0 0 0
] R s L=I-F | A 1,219] A 1,191 A 1,165 A 1,130 A 1,099
72 0 K A ZH M 685 668 661 650 640
3| e K F K OE;Q 634 646 661 650 640
73 REBE RE 0 634 646 661 650 640
€ FrE MU B 6T P 0 0 0 0 0
%9& R AMR B TR Q 0 0 0 0 0
= 1t N & R=N-M A 5] A 22 0 0 0
5 0 R A ZH S 3,268 3,216 3,162 3,097 3,041
3| #® R K vajw 3,120 3,155 3,162 3,097 3,041
ZEZ FeEHOE - PR B MR U 3,120 3,155 3,162 3,097 3,041
E T MR R 2T v 0 0 0 0 0
1%2 P RTAMR B Rk W 0 0 0 0 0
LTE' 1 A~ 2 X=T-S A 148 A 61 0 0 0

X1 2BRBEDILYNRPOERLFDOFAARLEDRVNENYHEZFIAT H5E
X2 WABEARRN—EORRELEICEIETEEEXIEEZITOCLSRANMRBEIERF.

[EELDBEFR BE~AFRIDFED)]

KR EDBRRBIFELELY,

HE=— X TLHHA R

Y=E-G

A 163

A 162

A 154

A 154

A 147

B =—XITH T DA 2

7=L+G

163

162

154

154

147




2

REDEDRAAHRUVHERA X (ALEEED)

(BRL: N)

(dL1E =] 216E[E | 285EE | 296 E | 30FE | NEE
B O R OA B A 105 102 99 92 90
1| ® & 5 K [B=CD 105 102 99 92 90
’mi FeEHE PR B MR C 41 40 40 40 40
P MeRBEZ 72 VEHEE | D 64 62 59 52 50
16 N & E=B-A 0 0 0 0 0
= 0 R OJA B |P=GH 1,742 1,703 1,670 1,615 1,586
HE=—X %1 G 215 210 207 196 189
> FEH=—= H 1,527 1,493 1,463 1,419 1,397
’ni etk R [EHHK 1,742 1,703 1,670 1,615 1,586
E FrEHE B ik J 1,742 1,703 1,670 1,615 1,586
RAMEB MR %2 K 0 0 0 0 0
1t N B L=I-F 0 0 0 0 0
B2 o R A & M 158 165 168 173 176
3| e K F K OE;Q 157 165 168 173 176
73 FEHE -RE O 152 160 163 168 171
€ FrE MU B 6T P 0 0 0 0 0
%9& R AMR B TR Q 5 5 5 5 5
R 16 N 2 R=N-M Al 0 0 0 0
5 0 R A ZH S 698 708 710 703 695
3| #® R K vajw 698 708 710 703 695
ZEZ FeEHOE - PR B MR U 683 693 695 638 680
E R MR R B |V 0 0 0 0 0
1%2 R IMR B TR W 15 15 15 15 15
ﬁ% 1 A~ 2 BEES 0 0 0 0 0

X1 25RED>LYHRHOERLUEOHARLEDRVELNYHBEZFI AT H5HE. R LOBREFELEL,

X2 WABEARRN—EORRELEICEIETEEEXIEEZITOCLSRANMRBEIERF.

[EELDBEFR BE~AFRIDFED)]

HA

= — AKX BB TR

Y=E-G

A 215

A 210

A 207

A 196

A 1389

B

=—RIIHT DA R

7=L+G

215

210

207

196

189




